Section (Circle one) @Nael Qaraeen [2] Radi Jarrar

Question 1) [20 Marks] Multiple Choice Questions - Please select the best answer for each of
the following questions

5 (1) Given the following switch statement: K 28
'~ 2
switch (k*=2) {
ase: ‘23.priatf (™ two 7);
case 4: printf(™ four ”)
case 8: printf(™ eight “);
What is the output ifk =2 ?
a) two @four c) four eight d) None
(2)int x = 5; int y = 2; float z = x/y, k = x/(float)y;
printi (“$f - %f£”, z, k)
The output of printf£is:
a)2.5-25 b)2.5-2.0 c)R.0-25 d)2-25
+ [3) Every function prototype must contain at least one parameter
’ @" True b) false
4 3
(4) Let x and y be integers having valuesa_ = 4andb = 3, whatis the value of
((a+b) *b%a+ (2a+DbsDb))is Wb Yo L0 y
| 730 Y+
a)0 @5 c)6 d) None 2k
(5) Division by zero is considered a \ #¥
a) Logical @ Syntax c) Run-time d) None of those types of errogr W
lole
(6) What is the equivalent in octal for the hexadecimal number (28A)16? ( Lf_‘_’\-i-'e—lfa E-E"" "‘Z"
a) (1721)e b) (1621)s O)(1212)s d) (2134)s » |
£y b e A
\ & 6 b & | 6
7) What is the binary representation of letter ‘B’ using odd parity?
11000010 : b) 01000010 c) 11001110 d) 01101100 |[Voooo \ .4
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8) (2E1F)1s = ( " SFD 5 U o
a) 2330132 b) 1320233 @2320133 d) None
f;(9) int X = 7; int y =3; int result = x == y; printf("%d%, result);
The output of print £ is:
2) 2.33 b) 2 01 @o
(10) int x =1, y = !x; R
iE(y ) 5

PEILCEL Y i
gedintT (O«

The output of printf is: i

a)y- s Al —x- ) x- d)x-y

9 10~
[Question [1 A /12 3 Mh 5;;1 60 1174 BC d (V‘
| Answer | @\l o @ | {\CK

i loyees.
Question 2) [14 Marks]: Write an algorithm that reads the salaries of n nlghmb;feii ::1;1 a)rry 5
There are female and male employees The algorithm shoulq find and ?rlnt ':16% g
the male employees before and after ta¥es. Assume that the income tax rate 1 e
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A) [10 Marks]

Solve the followin ; ; ) : ;
; g math expression, using two's complement with 8-bit
representation. Show all the steps of your work. : :

(111011)2 - (11010); = (oetooool)z=( CA Bl

oco\lo | ©

8 92 16 Yl
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a2 1 % § ¥

Ty

0o \

\ X o PVAC
YZLR
|
-y ) yoLn P @
oo NV Voo U
‘\ it Yoe a4 | o o5 xtL 2a.29
t____ 6 {9xL = 6.9
XOO\O c o 0O l 6.5%¢ = &),

B) [10 Marks] Using floating point representation, how you could represent the float value -35.125

in memory? (Show all your work) £ 32 !6%‘
. | &~ {
\ b g bt r 23 bit e
—l‘,»"' \ & 580 °°I ooolloel g 000cooooaooa()\
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\68 ¢4 2¢.146.8 % 28}
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printf ("B") :
printf ("\n"); o

g
|
|
|

A) [6 Marks] What is the output of the following loop:

=4 o e%ng;m1rﬁ > 69614‘ 4
while (++x < 12){ :
if (x == 10) 5 X é
/

continue; (s« t
PR E RO S KT 2) 7

Scanned by CamScanner

|



'B) [12 Marks) Complete the fo]

T lo :
positive integer as a parameter : WIng function called sumOfQ
for and if structures to solve thi

ik (, (esubt=o)
e ¢ ey dnoe) |

(x /Lc/o)\ 4
Grofevd = 037

(CSu“-: [c“"‘-l-.q-[;

.'A'H:%:f;iul") n
L O .
}

C) [12 Marks] Complete the following program that readg’the value of x from a file called

nums.txt and then calls function sumOf0ddDivisors and prints the value returned by that @:w»{_ 1Lb
function to the screen.

I
- -

#include <stdio.h>

ta bt Sawalodd Divisels C,Jn+ )j'_/

b
”
Y

Eliglind main ( ) { //////
inE x, sum;
FILE *in; /

/ >
fn = popev\ (ingis .H{f, 4 :) . / // -
s

[sconf (yu%a ’f/é“,,Q x) .

SYym= <uno£OJéDaJ,SofS (Y\ : /

r
> 4

?(\'-WC(;’/J.“\. St ) . st
(-(lo%c (\n‘n \’ :' S
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